=

AMERICAN SIGNATURE, INC. ASSEMBLY INSTRUCTIONS
ITEM NO.:1861R-P4SFIKH

DESCRIPTION: SPC PUB SET
-ARLO RUSTIC WALNUT

Thank you for purchasing this quality product. Be sure to check al! packing material carefully for small
parts, that may have come loose inside the carton during shipment.

Assembly For Table:

STEP 1 TOOL REQUIRED(NOT PROVIDED):
PHILLIPS SCREW DRIVER
=0
PARTS LIST
No. | Description Sketch | Qty
| TABLE TOP L | 1pes
STEP 2 )
o : END RAIL 7 | 2pes
3 LEFT LEG S~ | 2pes
4 RIGHT LEG e 2pcs
5 STRECHER === Ipc
HARDWARE LIST
No. Description Sketch Size Oy
e A ALLEN BOLT @ 5/16X55mm |8pcs
»
STEP 3 3 B ALLEN BOLT (@) 1/4X12mm 12pcs
C ALLEN KEY (S 6mm lpc
D ALLEN KEY - 4mm Ipc
E FLAT WASHER ®)] 5/16 8pcs
F SPRING WASHER S 5/16 8pcs
G [STRAIGHT ALLEN KEY|E=—— 6mm 1pc
H |STRAIGHT ALLEN KEY| =— 4mm 1pc
STEP 4

Note:Pls do not tighten all bolts until the table/stool is
assembled completely.Once assembled,tighten all
bolts before attaching the table/stool.

Straight Allen Key (G) & (H) are for Use with a power
drill

B

TOUCH ME FOR LEVEL

MADE IN CHINA PAGE 2 OF 2




&

AMERICAN SIGNATURE, INC.

G =

ASSEMBLY INSTRUCTIONS
ITEM NO.:1861R-P4SFIKH
DESCRIPTION: 5PC PUB SET
-ARLO RUSTIC WALNUT

Thank you for purchasing this quality product. Be sure to check all packing material carefully for small
parts, that may have come loose inside the carton during shipment.

Assembly For Stool:

STEP 1

STEP 3

Not Include Inside

MADE IN CHINA

TOOL REQUIRED(NOT PROVIDED):
PHILLIPS SCREW DRIVER
'—d_-[_v:}r
PARTS LIST

No. Description Sketch | Q'ty
I ENDLEG &&%=._ |2pcs
2 STRETCHER =—— |4pcs
3 SEAT (75 |1pe

HARDWARE LIST

No. Description Sketch Size Qly
A ALLENBOLT | @D 1/4X12mm | 16pcs
B SCREW (o= 4x20 4pcs
¢ | ALENKEY | - 4mm lpc

| H ESTRAIGHT ALLEN KEY| —_— | 4mm Ilpc |

Note:Pls do not tighten all bolts until the table/stool
is assembled completely.Once assembled,tighten all
bolts before attaching the table/stool.

Straight Allen Key ( H) is for Use with a power
drill, It has been put into the hardware pack of

table.

PAGE 10F 2




	table
	stools



